HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B3iXFo2_x,1M)+B3yroz_x,10)

+BsgZroz_x,10)
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)

2,0 Byj
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+BgaZro2_x,1(A)
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)

+BsgZroz_x,10)

2 ng 0,000 0,000 0,5168A=440

PA5:55 £gy x 1(\)=8,66
XFOZ_X,120’3625
Yro2_x,1=0,3640
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)
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P40:35 g x (N)=7.35
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)
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P30:35 gy x 1(\)=4,56
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B3iXFo2_x,1M)+B3yroz_x,10)

+BsgZroz_x,10)

2,0} B3j 0,000 0,000 0,5168A=440

P25:55 k0, x 1(A)=3,15
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Yro2_x,1=0,4147
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